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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

0. 04 -

0. 02 -

0. 00 -

-0. 02 ~

-0. 04 ~

—o— dFVI
—0— dFVO0

a-—a—a—ah—a—a

15.0

17.5

20.0

day

22.5

25.0

27.5

30.0

32.5

300 -

275

250 ~

225 A

200 -

175 ~

150 -

125 -

—&— DUC

15.0

T
17.5

20.0

day

22.5

25.0

27.5

30.0

32.5

200 A

180 ~

160 -

140 ~

120 -

100 -

80 A

—&— FRV

12.5

15.0

17.5

20.0

day

22.5

25.0

27.5

30.0

32.5

0. 6505

0. 6500

0. 6495

0. 6490

0. 6485

0. 6480

—&— FRC

17.5

20.0

day

22.5

25.0

27.5

30.0

32.5



400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

70

60

50

40

1750

1500

1250

1000

750

500

250

3.0

2.5

2.0

1.5

1.0

0.5

1.2

1.0

0.8

0.6

0.4

Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
. : ﬂﬁ\lr\rjn@ﬁ /‘\HA wnUAU*\\ — ]
AR TAdll \’ WW/\/\/\/\/\\X\\
Vv VL/ ‘V : ' \V4 v \
0 25 I 50 75 100 125 150 175
d
! o WW\N\V - Lpt:
| ki b %
: TN A
A i M
e - — -
AINAEN
RAVAE
0 2 I 50 75 100 125 150 175
d
i R
: ———  RHopt
— EAA M N
W™
1) \ :
U i
0 2 I 50 75 100 125 150 175
d
§ PV WAWANYIN By
: N / !
- 1
i N\
A | N\
VLTV D
0 2 I 50 75 100 125 150 175
d
i / \\ — LAl |
| i
0 2 50 75 100 125 150 175
d
) i }\ I optEtRate
T v
Nohaacd | VRN W I —
i
IR
0 25 I 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-15

BriE) | EBIATK (FD) | EHE (EH/HK) | XK R
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23t 2610.0 (10)%) 1200. 0 3233 %EC: 2080.0, PH: 6.0
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P3-15

BriE) [ EBIETK (D) | EHE (EH/HK) | XK SRR
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P3-15

BriE) | EBIATK (D) | EHE (EH/HK) | XK R

06:55 174 80.0 (Z=| 1Ri%e06:55 Bzh (RFEEEE)
07:50 174 80.0 |&Z=| 1Ri%e07:50 Bz (RAHERSE)
08:45 174 80.0 |Z=| 1Ri%e08:45 Bz (KBERSE)
09:40 174 80.0 FA| {Ri&@09:40 Bz (RAFEREE)
10:35 174 80.0 FA| 1Ri&@10:35 B3 (RAERSE)
11:30 174 80.0 FB| {Ri&e11:30 Bz (GRAFERSE)
12:20 174 80.0 FA| {Ri&e@12:20 Bzl CGRAEEEE)
13:10 174 80.0 FA| 1BRi&@13:10 B3 (RAEREE)
14:00 174 80.0 FB| {Rig&e14:00 B3 (GRAFERSE)
15:25 174 80.0 FH| 1Bi&e15:25 Bzh (RAEREE)
213t 1740.0 (10)%) 800. 0 3233 %EC: 2080.0, PH: 6.0
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ZRIASERRIERET7.0 ml.

HEEIHECE (2710.0 vs 4425.0) 5

77.0), AIREHT—@% XA 45
AEREMEC (2710.0) 5i%EEC (2000.0) RELK KA, B/E
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P3-15

RriE) | BRI (D) | EME (EA/K) | XK SRR

06:30 152 70.0 |2 =| {Ri%&e06:30 Bz (REAEHE)
07:10 152 70.0 FA| 1Ri%@07:10 B (RAERER)
07:50 152 70.0 FA| 1BRi18@07:50 Bzh (kRAAEESE)
08:30 152 70.0 |2 =| {Ri%&e08:30 Bzl (REAEHE)
09:10 152 70.0 RS Ri%@09:10 Bzl (REERESE)
09:50 152 70.0 B 1Rige09:50 Bah (REEER)
10:45 152 70.0 BE| Ri&e10:45 BHa (REAERSE)
11:35 152 70.0 B Rige11:35 Bz (REERSE)
12:30 152 70.0 el Rige12:30 Bal (REAEESE)
13:30 152 70.0 | Ri%@13:30 Bz (REAERESE)
14:10 152 70.0 B 1Rige14:10 Bz CGREMEESE)
14:45 152 70.0 B 1Ri%e14:45 Bzh GGREMERESE)
15:30 152 70.0 | Ri%@15:30 Bz (REEESE)
16:20 152 70.0 BS| 1Ri%e16:20 B (GREMEEEE)
213t 2128.0 (14)%) 980. 0 3ZGHKEC: 2080.0, PH: 6.0

FEREAERE STEAETRSE (195.0 : 132.0), AHEHRTF—@AZ XFH4
FORGEBRRTC (300) S5TEA (159. 0) AN, FIREH T % RREIERSHXER
ERINLPREBRE132.0 ml.

large discrepency for begining water status (194:297.0), set to 194 ml.
RE X i3t B RECE IR HR k.

FEXRERIEC (2663.0) 5iZFEEC (2000.0) REKRK, 1HHRE

# [E]ECE (2663. 0 vs 4955.0) i35

REREBTHEREC/PHIESRE, W RERZIMIEELRR
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P3-15

BfiE) | BRI (7)) | EME (EH/HK) | XS AR

06:50 190 70.0 | 1Rige06:50 Fzh (REEEE)
07:30 190 70.0 A5 {Ri%@07:30 Fzi (KREERESR)
08:10 190 70.0 RS {Ri&e08:10 Fzf (REERE)
08:50 190 70.0 BS| 1Ri%e08:50 Fzh (RF{EEEE)
09:30 190 70.0 RS {Ri%@09:30 Fzi (KREEER)
10:10 190 70.0 BEl Ri&e10:10 Fzf (REAEHE)
11:15 190 70.0 S| Ri&e11:15 Fz1 (GREEESE)
12:05 190 70.0 B {BRige12:05 Fz (RPHERKSE)
12:50 190 70.0 | Ri&@12:50 Fz1 (REERESE)
13:30 190 70.0 RS Rige13:30 Fz (REAEHE)
14:15 190 70.0 S| Ri%e14:15 Fzi1 (REERESR)
14:55 190 70.0 | Ri&e14:55 Fz (REERSE)
15:40 190 70.0 e Rige15:40 Fzf (REAEHE)
249t 2470.0 (13%) 910.0 3Z i REC: 2080.0, PH: 6.0

TERRHER 2 STEEART (124.0 :

PRIASLPRIEBE84. 0 ml.

84.0), AREAT—A%E XAHE
LRGEREE (190) 5748 (159. 0) FF, AR T & MG EIRS %2 XER

REREBIEC (2620.0) 5i&EEC (2000.0) REIK, BHE

HEEIHECE (2620.0 vs 4300.0) 15
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P3-15_0, Day=28 (2025-04-28)
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